Varied Fluency
Step 6: Compare Objects

National Curriculum Objectives:

Mathematics Year 2: (2N2b) Compare and order numbers from 0 up to 100; use <, > and =

signs
Mathematics Year 2: (2N3) Recognise the place value of each digit in a two-digit number

(tens and ones)

Mathematics Year 2: (2N4) Identify, represent and estimate numbers using different
representations, including the number line

Mathematics Year 2: (2Né) Use place value and number facts to solve problems

Differentiation:

Developing Questions to support comparing two sets of objects using the language more
than, less than and equal to. Using a variety of pictorial representations.

Questions to support comparing two sets of objects using the language more
than, less than and equal to and the inequality symbols. Using a variety of pictorial
representations.

Questions to support comparing two sets of objects using the language
more than, less than and equal to and the inequality symbols. Using a variety of mixed
pictorial representations and including some examples of unconventional partitioning.

More Year 2 Place Value resources.

Did you like this resource? Don't forget to review it on our website.
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https://classroomsecrets.co.uk/content-domain-filter/?fwp_contentdomain=2n2b
https://classroomsecrets.co.uk/content-domain-filter/?fwp_contentdomain=2n3
https://classroomsecrets.co.uk/content-domain-filter/?fwp_contentdomain=2n4
https://classroomsecrets.co.uk/content-domain-filter/?fwp_contentdomain=2n6
https://classroomsecrets.co.uk/category/maths/year-2/autumn-block-1-place-value-year-2/
https://classroomsecrets.co.uk/compare-objects-year-2-place-value-resource-pack/
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1a. Tick the statement that is correct.
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1b. Tick the statement that is correct.
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2a. Which representation shows the least?
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3a. True or false?
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3b. True or false?
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4a. Complete the statement.
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4b. Complete the statement.
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5a. Tick the statement that is correct.

5b. Tick the statement that is correct.
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6b. Which representation shows the least?
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7a. True or false?
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7b. True or false?
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8a. Complete the statement.

8b. Complete the statement.
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9a. Tick the statement that is correct. 9b. Tick the statement that is correct.
. PP (000 CCeO )
e 00 eeee
00 > o0 >
‘ ‘ .. 10 ' t t t
\ VAR A eee e
/R |\ /R )
B. @oeee @ 9| (B o f' ] ]
®ieee< 0088 | * % - anaa
Deecee 2890 i ®e T
\__ V) \__ y,
VF VF
10a. Which representation shows more 10b. Which representation shows less
than 3 tens and 19 ones? than 5 tens and 14 ones?
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11a. True or false? 11b. True or false?
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12a. Complete the statement. 12b. Complete the statement.
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Compare Objects

Developing
T1a. A

2a.B
3a. False. It is more than.
4a. 38 is less than 40.

Expected
5a. A

éa. A
7a. False. The correct sign is <.
8a. 56 is more than 33.

Greater Depth

9a. A

10a. B

11a. True

12a. 55 is equal to 55.
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Developing
1b. A

2b. A
3b. True
4b. 40 is more than 35.

Expected
5b. B

é6b. B
7b. False. The correct sign is <.
8b. 28 is more than 23.

Greater Depth

9b. B

10b. A

11b. True

12b. 25 is less than 28.
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